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fader 2 (1) (i) | Y T HifC |
Instruction : (A) Attempt all questions.
(if) STEFIHRATTHR I@IF= 5T |
Draw the diagrams / sketches wherever necessary.
(ifi) ¥ SHHIH 15 Y 20 Tk & I § AR faseq fgw M )
In Question Nos. 15 to 20, internal options are given.
(v) Tfte oifea =, 59 go1 # amfes oo steen Wantes fou T €,
3ok TN T 3Tkt gfafg / faRiwaisti & 1-1 fog faei |
Visually impaired students will write 1-1 point of speciality of
that places in the map-making questions.
(v) S0 T S SrEsad U9 o ST, AR Td auH o TJF )

had fogar fae |
Hearing impaired students will write the long answer type

questions with points only.
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fdsr : (F) U HHE 1 TS T € | 39H WUe (1), @ (9) Td
TUE (¥) ¥ | I% GUs § UiE 9§ 991 I 99 & o
1-1 37k eEifed |

Instruction : (B) Question No. 1 is an objective type question. There are
three Sections—(A), (B) and (C) in it. Five questions are

given in each section and each question carries 1 mark.

Uga-1  @Us-( 31) Hel fasheq et fafan : [1x5=5]

Section-(A) Choose and write the correct option :

() S A TS (TS I US) o1 FHiv Td 7Ha Ham
(37) IwmE Tl
() GG 3ha
(9) HHE 3Tk
(3) vl
Contruction and repair of G. T. Road (Grand Trunk Road) was done by :
(a) Sher Shah Suri
(b) Badshah Akbar
(c) Emperor Ashok
(d) Shah Jahan

(i) Taes geama wes wenfua feen T ¥
(87 fored s weam ¥
(%) TR w8am 4§
(§) ST % FAM |
(3) &9 % G8dm 4§
Bhilai Steel Plant was located :
(a) with the help of Britain
(b) with the help of America
(c¢) with the help of Germany
(d) with the help of Russia
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(iii) TT=AifRa B -1 St b1 TR-TRRATd SHiEe § 2

(v)

)

(37) HIFA HHIEH

(%) Y2Iferay d9red

(§) AT uferd HEIEA

(3) "R

Which energy source is the non-conventional resource in the
following?

(a) Coal resources

(b) Petroleum resources

(c) Nuclear Power resources

(d) Solar energy

Y] IS ARG AT R
() gl a1 3um

() TS 3T

() St a= 3E

(7) dH= seEm

Animal product based industry is :
(a) Cotton textile industry

(b) Paper industry

(c) Woollen textile industry

(d) Cement industry

TheReh Yeoia gN fafad AMa el Hafd T s Am © -
(37) TafIIaTH

(9) TeAlE=q 3w (TIme

(¥) YR &7 YiieT

(7) P e

What is the name of the human geography related book written
by Friedrich Ratzel?

(a) Anthropogeography

(b) Elements of Geography

(c) Geography of India

(d) Agricultural Geography
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@ues-( &) e Tl &t gfd swifs
Section-(B) Fill in the blanks :

[1x5=5]

(i) IRAH T I H U0 WH —— T H T |
____state has first place in wheat production in India.

(if) HTEEE —— Wil & Th THR |

Magnetite is type of mineral.

(iii) YIRA H Gaifees SEE o arel 0 —— € |
___ state is the highest population density in India.

(iv) HETHSE SMER R Fmen 9 FHde —— TR % 3SR ¢ |

On functional basis Shimla as well as Nainital are examples

of  city.

(v) 159 59 I g el SHEEAT Tl —— SHEEA Fed € |

Population in the age group of 15 to 59 years is called  population.

wue-( |) 3fea ey Sifst :
@D

() BTG T H A

(if) TR J

(iii) STTeh HRTEIY H femard

(iv) SIS

(v) Yo gami

Section-(C) Match the columns :
()
(i) Sex-ratio in Chhattisgarh
(if) Deltai region
(iii) Sex-ratio in the
Continent of Africa
(iv) Uttar Pradesh

(v) On mountain slope

[1%5=5]
(In

(31) 1017 &t 9fd TR g&u
() ¥t gfaey st

(@) i, gl

(2) 991 Wit gfd TSR &
(3) T IARA H goH

(a)
(b)
(c)

(d)
(e)

an
1017 women per 1000 men
Terrace pattern settlement

Coconut, Sundri tree

991 women per 1000 men

First in production of sugarcane
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st : (F) U ®E® 2 ¥ 7 9% AfAagsaid U9 | TdE T W
2 3feh erifed €1 (ST 1 efuehan w-imT 30 =8 ¥)
Instruction : (C) Question Nos. 2 to 7 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

Yya-2 HEE oKl Y hed § ? [2]
What is the compact settlement?

U9-3 T Y 1 ARE § ? [2]
What is the meaning of death rate?

U-4 =R 99 % fou - T ufas § 2 [2]

Which river is famous for quick sand?

UYA-5 AT % o FAYSTRR gfaeq ot fos sAmu | [2]

Draw the triangular pattern of rural settlement.

Uoa-6  GumEie TR TRl whed © 2 [2]

What is the administrative town?

Y9A-7 A9 § 1 3NA E ? [2]
What is meant by occupation?

ot : (3) T HHG 8 ¥ 14 I AfTeEIT W ¥ | TE T W
3 3 ITEfed § | (SR i 3Tferehan -1 50 T8 )

Instruction : (D) Question Nos. 8 to 14 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

answer 1s 50 words)

yya-8 oS SLALsAR o STTER HFd e i TR S | [3]
According to Vidal de la Blache, define human geography.

Y9A-9 IO T TRIY SHEE H diF o=<R fafan | [1+1+1=3]

Write three differences in rural and urban population.

Y9T-10  ATRAT I<TME 1 Hed IRy | [1+1+1=3]
Write importance of Tokyo sea port.
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Y9A-11 Y 39N Ta 8¢ UM § <R ey | [1+1+1=3]

Explain the difference between small-scale industry and large-

scale industry.

Y9A-12 I a9 faggd 8 W feuoft fafan | [3]

Write a note on Korba thermal power plant.

Yga-13 IAEE TSF H 96 U T FhRT S | [3]

Focus on the rice industry in Chhattisgarh state.

U9-14 U T 3TR@ & YR R f=ifRd gl o IW N [1+1+1=3]

1200

1000

]
o
o

N
o
o

wfdt IR gest ot wfgemd

200 v e e e e

(37) At fEmard =1 <0 HiA-a1 ¥ ?
() ¥fd 9K geul R afeand fh et § yefifd € 2
(g) AN 1 M 9=y |
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Answer the following questions based on the given diagram :

1200

-
o
o
o

800

600

400

Women per 1000 Men

200

India

USA
Pakistan
Russia
Bangladesh

Main Countries

(a) Which is the highest sex-ratio country?
(b) Which axis displays women per 1000 men?

(c¢) Give the name of the diagram.

st : (3) U HHH 15 ¥ 17 T TREI T T | TIH T W
4 3feh aTEfed € | (ST H Afenad vrea-HHT 75 g ¥)

Instruction : (E) Question Nos. 15 to 17 are short answer type questions.
Each question carries 4 marks. (Maximum word limit of
answer is 75 words)

YoA-15 9Rd H 7T &t 3U & foTq stmawass viiiferes genedi &1 auia shifsa | [1+1+1+1=4]

Describe the necessary geographical conditions for the production of
sugarcane in India.
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OR

gd hifd ol foaR 9 9wsmsT |

Explain the Green Revolution in detail.
Yg-16  UATHT 718X o LEITas TR AR Hed THeET | [2+2=4]

Draw the diagram of Panama Canal and write its commercial importance.

s7erar
OR

TS e Rl AT He WIas I THSET |

Draw the diagram of Swez Canal and write its commercial importance.

U9-17 o HEYA Sl HEd odeU | [2+2=4]

Write the importance of forest resources.

s7erar
OR

T O T Wfseh 31 T § 7 ST ST 91 WHE S d IEE
RIGIETICASH L I 1

What is the literal meaning of rocky 01l? Give its utility and examples
of the major two oil refineries.

facsr : (W) 9T HHAR 18 ¥ 20 dh SESTUT I & | T T9 W
5 3ieh oTeifed § | (ST 1 ATUhay Tg-FH 1 750 3= §)

Instruction : (F) Question Nos. 18 to 20 are long answer type questions.
Each question carries 5 marks. (Maximum word limit of

answer is /50 words)

YYA-18  UY] HHIHA i FHEAAT 1 FUM HITSIT | THh W& & U™ FaRL | [2%+214=5]

Describe the problems of animal resources and write its method of

conservation.
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[9]
arerar

OR

“ R repfaek WeAT | T, WEnfen § R g1 @ e w gfe it [5]

“India is not poor in natural resources, but in technology.” Substantiate

this statement.
YR o HHesR AFfes § fergiferd Tml & =M a1 faRivand sqEa | [5]

Describe the names or characteristics of the marked places in an

outline map of India.

34T

OR
BAEE oh HHHR A H f=ifha @l ISRIA ST : [1+1+1+1+1=5]
(37) 3 U
(&) gl Tt

(¥) SATG kit AT

(3) 7% HEIe™ U o UM
(3) ¥\<a

In outline map of Chhattisgarh, show the following :

(a) Energy Capital

(b) Indrawati River

(c) Capital of Chhattisgarh

(d) Guru Ghasidas National Park
(e) Bhoram Dev
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Y9T-20 TR S o FHanfEdi ot o hed € 2 S Siaq-uieed fifera st

% YR W fafay : [1+1+1+1+1=5]
(37) IR e

() o&=

(g) HrsH

(3) a9

What is the name of the residents of Zaire Basin? Write their life
based on the following titles :

(a) Physical structure

(b) Outfit

(c) Food

(d) Occupation

sfear

OR

ol ST & TR[UTCTh] Rl T Sed © 2 SeRl Sie-aied Freifeha
3iToiehi o SATHR W fafe :

(37) IR T

(o) a=HA

(®) A

(3) 9™
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What is the name of the cattle-keepers of East Africa? Write their
life based on the following titles :
(a) Physical structure
(b) Outfit
(c) Food

(d) Occupation

oooooooooo
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